MOS FET Array SMAS5113

Absolute Maximum Ratings (r,=ose)

Electrical Characteristics

External Dimensions  SMA (LF1000)

(Ta=25°C)
Symbol Ratings Unit ” i .
Y g Symbol Test Conditions - Ratings Unit
Vbss 450 v min typ max
Vess +30 v V(r)DSs | Ip=100pA, Ves=0V 450 v e 4002
25002
Ip +7 A Iess Ves=+30V +100 nA T‘;
ID (pulse) *! +28 A Ipss Vbs =450V, Ves=0V 100 PA s Ob 30°
P 4(Ta=25°C, All circuits operate, No Fin) W VTH Vps=10V, Ip=1mA 2.0 4.0 V ; 21 @ a l:l Q
T 35 (Tc=25°C, All circuits operate, % Fin) W Re (yfs) Vps=20V, Ip=3.5A 35 5.0 S 4; i L ppeos
Eas *? 130 mJ RDs (ON) Ves=10V, Ip=3.5A 084 | 11 Q 3 “u”""u""mﬁ 146015
IAS 7 A Ciss Vps=10V 720 pF — 0B
; ‘Junction - Ambientare, Coss f=1.0MHz 150 E cpasa0icpzos | 0S5ijl[ 12
fj-a 312 <;i;§(;nAl\ c;r:zis operate) °CIW ? Vas =0V 65 SF HeRRS 2o
Bj-c 357 <Ta:25“c‘ Al circuts operate ) °CIW td (on) Ip=3.5A 25 ns 315 max
Tch 150 oc tr VEEL’ fgg)gV 40 ns
Tstg -55 to +150 °C td (off) Ves=10V 70 ns I P
*1 Pwéloops, duty =1% tf Rc=50Q 50 ns 123456[789101112 a) Type No.
*2 Vop=30V, L=5mH, IL=7A, unclamped, Vsp Isp=7A, Ves=0V 1.0 15 v b) Lot No.
Re=50Q (Unit: mm)
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